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Chapter 1 Introduction to Macroeconomics

1) Which of the following is NOT a topic studied in Macroeconomics? 

A) gross domestic product 

B) the unemployment rate 

C) the price of IBM computers 

D) the inflation rate 

Answer: C 

2) Which of the following is a topic studied in Macroeconomics? 

A) gross domestic product 

B) the wage of auto workers 

C) the price of IBM computers 

D) the amount of pizza produced 

Answer: A 

3) Which of the following is a topic studied in Macroeconomics? 

A) the functioning of individual industries 

B) aggregate behavior of households and industries 

C) the behavior of individual households 

D) the decision- making behavior of individual business firms 

Answer: B 

4) Prices that do not always adjust rapidly to maintain equality between quantity supplied and quantity demanded are 

A) administered prices. 

B) sticky prices. 

C) regulatory prices. 

D) market prices. 

Answer: B 

5) The demand for corn has increased in May without any change in supply. Eight months later there still has been no change in corn prices. This is an example of a 

A) price floor. 

B) price control. 

C) sticky price. 

D) macroeconomic price. 

Answer: C 

6) The demand for massage therapists declined in the spring of 2007, but the starting wages paid to massage therapists was still the same at the end of 2007. This is an example of a 

A) sticky price. 

B) flexible price. 

C) highly regulated market. 

D) price control. 

Answer: A 

  7) An increase in the overall price level is known as 

A) deflation. 

B) recession. 

C) inflation. 

D) stagflation. 

Answer: C 

8) Aggregate behavior is 

A) the behavior of each household and firm. 

B) the behavior of each individual. 

C) the behavior of all households and firms together. 

D) none of the above. 

Answer: C 

 9) Inflation is a(n) 

A) decrease in the overall price level. 

B) decrease in the overall level of economic activity. 

C) increase in the overall price level. 

D) increase in the overall level of economic activity. 

Answer: C 

 10) Deflation occurs when 

A) the average price level declines. 

B) economic activity declines. 

C) the economic growth rate declines. 

D) the unemployment rate declines. 

Answer: A 

 11) A period of very rapid increase in the overall price level is known as 

A) stagnation. 

B) hyperinflation. 

C) stagflation. 

D) depression. 

Answer: B 

 12) The trend of the economy is 

A) the long run growth path of the economy. 

B) the long run inflation rate. 

C) the long run unemployment rate. 

D) the short run production capacity of an economy. 

Answer: A 

13) The term business cycle refers to the 

A) short- term ups and downs in the price level. 

B) long- term trends in the price level. 

C) short- term ups and downs in the level of economic activity. 

D) long- term trends in the level of economic activity. 

Answer: C 
14) A period during which aggregate output rises is known as a(n) 

A) recession. 

B) inflation. 

C) hyperinflation. 

D) expansion. 

Answer: D 

 15) A period when the economy shrinks is known as 

A) a recession. 

B) a contraction. 

C) a slump. 

D) all of the above. 

Answer: D 
16) In a business cycle, a peak represents the end of________ and a trough represents the end of _____
A) an expansion; a recession 

B) a depression; an expansion 

C) a trough; a peak 

D) a recession; an expansion 

Answer: A 
 17) In a business cycle, a peak represents the end of 

A) an expansion. 

B) a depression. 

C) trough. 

D) a recession 

Answer: A 

18) In a business cycle, a trough represents the end of 

A) an expansion. 

B) an inflation. 

C) a peak 

D) a recession. 

Answer: D 

19) It has become conventional to classify an economic downturn as a recession when aggregate 

output declines for 

A) three consecutive quarters. 

B) two consecutive quarters. 

C) a year. 

D) six consecutive quarters. 

Answer: B  
20) If the labor force is 500 and employment is 450, then the unemployment rate is 

A) 100%. 

B) 90%. 

C) 10%. 

D) 0%. 

Answer: C 

21) A prolonged and deep recession is called 

A) a business cycle. 

B) a depression. 

C) a stagflation. 

D) hyperinflation. 

Answer: B 

  22) Between a trough and a peak, the economy goes through a(n) 

A) recession. 

B)bust. 

C) expansion. 

D) hyperinflation. 

Answer: C 
  23) Between a peak and a trough, the economy goes through a(n) 

A) expansion. 

B) inflation. 

C) recession. 

D)boom. 

Answer: C 

24) Unemployment means that 

A) at the going wage rate, there are people who want to work but cannot find work. 

B) people are not willing to work at the going wage rate. 

C) there are some people who will not work at the going wage rate. 

D) there is excess demand in the labor market. 

Answer: A 

 25) Unemployment implies that in the labor market 

A) there is an excess supply of labor. 

B) there is an excess demand for labor. 

C) there are too few workers for the jobs available. 

D) quantity demanded of labor exceeds quantity supplied. 

Answer: A 

26) The unemployment rate equals 

A) labor force/population. 

B) unemployed/employed. 

C) (employed- unemployed)/labor force. 

D) (labor force - employed) / labor force. 

Answer: D 

27) The unemployment rate equals 

A) labor force/population. 

B) unemployed/employed. 

C) (employed - unemployed) / labor force. 

D) unemployed / labor force. 

Answer: D 

 28) If the labor force is 50 million and 48 million are employed then the unemployment rate is: 

A) 2%. 

B) 4%. 

C) 5%. 

D) 52%. 

Answer: B 

 29) If 20 million workers are unemployed and 180 million workers are employed, then the  unemployment rate is 

A) 10%. 

B) 11.1%. 

C) 18%. 

D) 80%. 

Answer: A 

 30) The period in the business cycle from a trough to peak is called a(n) 

A) recession. 

B) expansion. 

C) slump. 

D) depression. 

Answer: B 

31) If output is rising and unemployment is falling, the economy MUST be in a(n) 

A) contraction. 

B) expansion. 

C) depression. 

D) hyperinflationary period. 

Answer: B 

32) The period in the business cycle from a peak to a trough is a(n) 

A) recession. 

B)boom. 

C) expansion. 

D) inflation. 

Answer: A 

  33) Unemployment generally________ during recessions and________ during expansions. 

A) falls; rises. 

B) falls; falls. 

C) rises; falls. 

D) rises; rises. 

Answer: C 

34) Which of the following statements is FALSE? 

A) The rate of change in economic activity is used to assess whether an economy is expanding or contracting. 

B) Short- term ups and downs in the economy are known as business cycles. 

C) During a recession, output and employment are falling. 

D) Business cycles are always symmetric the length of an expansion is the same as the length of a contraction. 

Answer: D 

2 True/False 

1) Macroeconomics is concerned with inflation or deflation, output growth and unemployment. 

Answer: TRUE 

 2) Macroeconomics is concerned with the market price and equilibrium quantity of each good or service. 

Answer: FALSE 

 3) The employment rate is the number of people employed divided by number of people in the labor force. 

Answer: TRUE 

  4) Hyperinflation and stagflation are two different names which refer to identical economic 

conditions. 

Answer: FALSE 

  5) Macroeconomic behavior is the sum of all the microeconomic decisions made by individual 

households and firms. 

Answer: TRUE 

 6) All business cycles are symmetric the length of an expansion is the same as the length of a recession. 
Answer: FALSE 

 7) A recession is usually associated with increasing unemployment. 

Answer: TRUE 

9) An expansion is usually associated with rising price levels. 

Answer: TRUE 

10) A recession is associated with a negative rate of growth of the economy. 

Answer: TRUE 
5.2 The Components of the Macroeconomy 

1) If the central bank decreases the money supply, it is conducting 

A) monetary policy. 

B) supply- side policy. 

C) fiscal policy. 

D) incomes policy. 

Answer: A 

2) If Congress increases government spending, it is using 

A) monetary policy. 

B) supply- side policy. 

C) fiscal policy. 

D) incomes policy. 

Answer: C 

3) Government policies regarding taxes and expenditures are called 

A) fiscal policy. 

B) income policies. 

C) supply- side policy. 

D) monetary policy. 

Answer: A 

4) The government implements fiscal policy when it changes 

A) spending and/or interest rate. 

B) money supply and/or taxes. 

C) taxes and/or spending. 

D) taxes and/or interest rate. 

Answer: C 

5) The government wants to encourage consumer spending through cutting income taxes. This is  an example of 

A) an incomes policy. 

B) a fiscal policy. 

C) a supply- side policy. 

D) a monetary policy. 

Answer: B 

 7) The Federal Reserve affecting the supply of money is known as 

A) fiscal policy. 

B) monetary policy. 

C) growth policy. 

D) supply side policy. 

Answer: B 

8) Policies designed to affect the quantity of money are 

A) fiscal policies. 

B) supply side or growth policies. 

C) government spending policies. 

D) monetary policies. 

Answer: D 

 9) The diagram that shows the income received and payments made by each sector of the economy is the 

A) aggregate demand- aggregate supply diagram. 

B) circular flow diagram. 

C) income flow diagram. 

D) income- production diagram. 

Answer: B 

 10) In the circular flow diagram, the different payments made by firms to households include 

A) wages and profits. 

B) interest and taxes. 

C) transfer payments and dividends. 

D) taxes and transfer payments. 

Answer: A 

11) An example of a transfer payment is 

A) an interest payment on a General Motorsʹ bond. 

B) the added value of stock from the time it was bought to the time it was sold. 

C) a Social Security retirement benefit. 

D) the salary paid to a member of the armed forces. 

Answer: C 

 12) A transfer payment is 

A) a bonus to get a worker to accept a transfer. 

B) a cash payment made by the government to people who do not supply goods, services or 

labor in exchange for the payment. 

C) a cash payment for transferring a good from one person to another. 

D) an in kind payment for workingʺ off the books.ʺ 

Answer: B 

13) A household that spends less than it receives in income during a given period is 

A) saving. 

B) dissaving. 

C) running a deficit. 

D) receiving transfer payments. 

Answer: A 

14) The major lesson of the circular flow diagram is that 

A) saving must always be less than investment. 

B) taxes must always be greater than government expenditures. 

C) total income in the economy must always equal total spending. 

D) tax receipts must be equal to transfer payments 

Answer: C 

15) In which of the following markets are funds demanded and supplied? 

A) the labor market 

B) the goods and services market 

C) the money market 

D) the factor market 

Answer: C 

16) In the goods- and- services market, households 

A) only supply. 

B) only demand. 

C)both supply and demand. 

D) neither supply nor demand. 

Answer: B 

17) The demanders in the goods- and- services market are 

A) households and business firms. 

B) households, the government, and the rest of the world. 

C) the government and business firms. 

D) households, the government, business firms, and the rest of the world. 

Answer: D 

18) In which basic market would DVDs be traded? 

A) the goods and services market 

B) the money market 

C) the labor market 

D) the factor market 

Answer: A 

19) In the circular flow diagram, firms________ labor and households________ goods and  services. 
A) demand; supply. 

B) demand; demand. 

C) supply; demand. 

D) supply; supply. 

Answer: B 

 20) In the circular flow diagram, households demand________ and supply________. 
A) labor; labor. 

B) goods; services. 

C) goods and services; labor. 

D) labor; goods and services. 

Answer: C 

21) Promissory notes issued by the federal government when it borrows money are known as 
A) Treasury shares. 

B) Treasury stocks. 

C) Treasury bonds. 

D) none of the above 

Answer: C 

 22) A promissory note issued by a corporation when it borrows money is a 
A) share. 

B) corporate bond. 

C) corporate dividend. 

D) stock. 

Answer: B 
  23) Dividends are 

A) government profits distributed among bondholders. 

B) corporate profits distributed among shareholders. 

C) capital gains realized by stockholders. 

D) promissory notes issued by corporations. 

Answer: B 

24) Which of the following is a CORRECT statement? 

A) Companies issue shares but donʹt issue bonds. 

B) The government issues both bonds and shares. 

C) Bondholders earn dividends but shareholders donʹt. 

D) Shareholders earn dividends but bondholders donʹt. 

Answer: D 
25) A capital gain is 

A) a financial instrument that gives the holder a share in the ownership of a firm and 

therefore the right to share in the profits of the firm. 

B) the portion of a corporationʹs profits that the firm pays out each period to its shareholders. 

C) an increase in the value of an asset over the price initially paid for it. 

D) the difference between an individualʹs economic income and money income. 

Answer: C 

26) An increase in the value of an asset over the price initially paid for it is a 

A) dividend. 

B) share of stock. 

C) promissory note. 

D) capital gain. 

Answer: D 

 7) A dividend is 
A) a promissory note issued by corporations when they borrow money. 

B) an increase in the value of an asset over the purchase price initially paid for it. 

C) the difference between the interest rate a bank pays on deposits it 

charges for loans. 

D) the portion of a corporationʹs profits that the firm pays out each period to its shareholders. 

Answer: D 

28) The portion of a corporationʹs profits that a firm pays out each period to its shareholders is a 

A) dividend. 

B) promissory note. 

C) capital gain. 

D) corporate bond. 

Answer: A 

2 True/False 

1) Fiscal policy generally takes the form of regulations specifying the maximum amount by which the money supply can be changed. 

Answer: FALSE 

2) Contractionary fiscal policy includes raising taxes. 

Answer: TRUE 
3) Monetary policy includes changing the level of household taxes. 

Answer: FALSE 
4) A corporate bond is a promissory note issued by a firm when it borrows money. 

Answer: TRUE 
5) In the circular flow diagram everyoneʹs expenditure is someone elseʹs receipt. 

Answer: TRUE 
6) A dividend is is paid by shareholders to firms. 

Answer: FALSE 

7) A transfer payment is the tax one pays when transferring real estate. 

Answer: FALSE 

8) A capital gain is the increase in value of an asset above its initial cost. 

Answer: TRUE 

5.3 A Brief History of Macroeconomics 

1 Multiple Choice 

1) To get the economy out of a slump, Keynes believed that the government should 

A) cut both taxes and government spending. 

B) increase both taxes and government spending. 

C) increase taxes and/or decrease government spending. 

D) decrease taxes and/or increase government spending. 

Answer: D 

2) To bring the economy out of an inflationary period, Keynes argued that the government should 

A) cut both taxes and government spending. 

B) increase both taxes and government spending. 

C) increase taxes and/or decrease government spending. 

D) decrease taxes and/or increase government spending. 

Answer: C 

3) Which of the following is an assumption used by Classical economists? 

A) Wages adjust downward but not upward. 

B) Wages adjust upward but not downward. 

C) Wages are inflexible. 

D) Wages adjust both upward and downward. 

Answer: D 

4) According to the Classical model, unemployment 

A) could not persist because wages would rise to eliminate the excess supply of labor. 

B) could not persist because wages would fall to eliminate the excess supply of labor. 

C) could be eliminated through fiscal and monetary policies. 

D) could be eliminated only through government intervention. 

Answer: B 

5) According to Classical economists, if the quantity of labor demanded exceeds the quantity supplied, there is a 

A) surplus of labor and wages will rise. 

B) shortage of labor and wages will fall. 

C) shortage of labor and wages will rise. 

D) surplus of labor and wages will fall. 

Answer: C 

6) According to the Classical economists, the economy 
A) requires fine- tuning to reach full employment. 

B) has sticky prices in many industries. 

C) is self- correcting. 

D) will never be at full employment. 

Answer: C 

8) According to Classical models, the level of employment is determined primarily by 

A) the level of aggregate demand for goods and services. 

B) prices and wages. 

C) government taxation. 

D) government spending. 

Answer: B
9) According to Keynes, the level of employment is determined by 

A) flexible wages and prices. 

B) interest rates. 

C) price and wages. 

D) the level of aggregate demand for goods and services. 

Answer: D 

10) The concept ofʺ market clearingʺ is adopted and defended by 

A) Keynesian economists. 

B) Classical economists. 

C) fine- tuning economists. 

D) demand- side economists. 

Answer: B 

11) Suppose the economy suffers a high rate of unemployment. According to Keynesian economists, the government should increase employment by 

A) decreasing money supply. 

B)balancing the budget. 

C) not doing anything. 

D) increasing government spending. 

Answer: D 

12) Which of the following would be an example of fine tuning? 

A) Firms increase wages to attract high- quality workers. 

B) Firms increase employment benefits to increase workersʹ productivity. 

C) The federal government enacts legislation to increase spending to try to stimulate the economy. 

D) The federal government passes legislation that would require that the governmentʹs budget always be balanced. 

Answer: C 

13) Rapid increases in the price level during periods of recession or high unemployment are known as 

A) stagflation. 

B) stagnation. 

C) depression. 

D) inflation. 

Answer: A 

14) Stagflation occurs when the economyʹs inflation rate is high and 

A) employment is high. 

B) the unemployment rate is high. 

C) the unemployment rate is low. 

D) the rate of change in economic activities is positive. 

Answer: B 

2 True/False 

1) Keynes believed that expansionary fiscal policy could help get an economy out of an inflation. 

Answer: FALSE 
2) According to the Classical model, an excess supply of labor would drive up wages to a new equilibrium level and therefore unemployment would not persist. 
Answer: FALSE 

3) According to Keynes, aggregate supply determines the level of economic activities in the economy. 

Answer: FALSE 

4) According to Keynes, the governmentʹs role during periods when private demand is low is to stimulate aggregate demand and, by so doing, lift the economy out of recession. 

Answer: TRUE 

5) In the Classical model, the level of employment is determined by the level of aggregate demand.

 Answer: FALSE 

6)ʺ Fine tuningʺ is any government attempt to regulate inflation or unemployment. 
Answer: TRUE 

7) Classical economists believed that economic slowdowns are self- correcting. 
Answer: TRUE 

Chapter 2 Measuring National Output and National Income

1 Multiple Choice

1) The total market value of all final goods and services produced within a given period by factors of production located within a country is

A) gross domestic product.                

B) gross national product.

C) net national product.                     

D) net national income.

Answer: A
2) Gross domestic product measures

A) the total spending of everyone in the economy.

B) the value of all output in the economy.

C) the total income of everyone in the economy.

D) all of the above

Answer: D

4) Which of the following is a good or service counted in GDP?

A) tires Ford buys to put on a car

B) a used tire you buy for your personal car

C) a new tire you buy for your personal car

D) used tires bought by a used car dealer to put on a car on his lot

Answer: C

5) Double counting can be avoided by

A) including the value of intermediate goods in the current year.

B) not counting the value of intermediate goods in GDP.

C) including the value of intermediate goods in the GNP but not in the GDP.

D) including the value of intermediate goods in the production year but not in the selling year of those goods.

Answer: B

6) Gross national product is the total market value of

A) all final and intermediate goods and service produced by resources owned by a country

in a given year.

B) all final and intermediate goods and services produced in a country, regardless of who owns the resources.

C) all final goods and services produced in a country in a given year, regardless of who

owns the resources.

D) all final goods and services produced by resources owned by a country, regardless of

where production takes place.

Answer: D

11) If no foreign companies produce in a country, but many of the countryʹs companies produce abroad, then

A) the countryʹs GNP will tend to exceed its GDP.

B) the countryʹs GDP will tend to exceed its GNP.

C) the countryʹs GNP and GDP will tend to be equal.

D) the countryʹs GDP will tend to be equal to its domestic income.

Answer: A

12) Which of the following is included in both the U.S. GDP and GNP?

A) The value of all cars produced by Ford in Mexico.

B) The value of all cars produced by General Motors in the U.S.

C) The value of all cars produced by Toyota in the U.S.

D) The value of cars produced by Nissan in Japan and the U.S.

Answer: B

13) Which of the following is NOT counted in the GNP of the United States?

A) The wage of a U.S. citizen who works in a foreign country for a foreign firm.

B) The interest earned by a U.S. bank on loans to a business firm located in Brazil.

C) The profit earned by a restaurant located in the United States but owned by a Mexican company.

D) The value of services that are produced by state and local governments in the United States.

Answer: C
15) Profits earned in the United States by foreign-owned companies are included in

A) the U.S. GDP but not GNP. 
B) neither the U.S. GDP nor GNP.

C) the U.S. GNP but not GDP. 
D) both the U.S. GDP and GNP.

Answer: A

17) The GDP includes

A) the value of all intermediate goods and services.

B) the value of all final goods and services.

C) the value of both intermediate and final goods and services.

D) the value of all transactions.

Answer: B

18) Income Mexican citizens earn in the U.S. counts in

A) U.S. GNP.                     

B) Mexican GNP.

C) Mexican GDP.
D) both U.S. and Mexican GDP.

Answer: B

2 True/False

1) GDP measures the total income of everyone and the total spending by everyone in the economy.

Answer: FALSE

3) The income of U.S. citizens working abroad counts in U.S. GDP.

Answer: FALSE

4) Stock market transactions are part of GNP.

Answer: FALSE

5) Value added is the difference between the value of good as they leave a stage of production and cost of the goods as they entered that stage of production.

Answer: TRUE

1 Multiple Choice

1) The equation for GDP using the expenditure approach is

A) GDP = C + I + G + EX - IM. 
B) GDP = C + I + G + (IM - EX).

C) GDP = C + I + G + EX + IM. 
D) GDP = C + I + G - EX - IM.

Answer: A

2) The single largest expenditure component in GDP is

A) government spending. 
B) investment.

C) consumption.
 D) net exports.

Answer: C

Refer to the information provided in Table 6.1 below to answer the questions that follow.
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3) Refer to Table 6.1. Personal consumption expenditures in billions of dollars are

A) 1,000. 
B) 1,300. 
C) 1,500. 
D) 1,650.

Answer: D

C = durable goods + non durable goods + services = 1650
4) Refer to Table 6.1. The value for gross private domestic investment in billions of dollars is

A) 300. 
B) 375. 
C) 325. 
D) 450.

Answer: C

I = Residential + Nonresidential + Changes in Inventory = 325
5) Refer to Table 6.1. The value for net exports in billions of dollars is

A) 350. 
B) 250. 
C) 650. 
D) 800.

Answer: A

Net export = Export – import = 500 – 150 = 350

6) Refer to Table 6.1. The value of gross domestic product in billions of dollars is

A) 3,000. 
B) 2,875.
C) 3,125. 
D) 3,750.

Answer: B

GDP = C + I + G + (X – M) =
GDP = 1650 + 325 + 550 + 350 = 2875

7) Refer to Table 6.1. The value of government spending in billions of dollars is

A) 100. 
B) 200.
 C) 300.
 D) 550.

Answer: D

G = Federal purchase of goods + States and local purchase of goods =

G = 300 + 250 = 550

15) The change in business inventories is measured as

A) final sales minus GDP. 
B) final sales plus GDP.

C) GDP minus final sales. 
D) the ratio of final sales to GDP.

Answer: C

16) In 2007 final sales equal $200 billion, and the change in business inventories is $50 billion. GDP in 2007

A) is $250 billion. 
B) is $200 billion. 
C) is $150 billion. 
D) is $40 billion.

Answer: A

17) In 2006 final sales equal $350 billion and the change in business inventories is -$60 billion. GDP in 2006

A) is $290 billion.

B) is $295 billion.

C) is $410 billion.

D) cannot be determined from this information.

Answer: A

18) In 2008 the change in business inventories is -$70 billion and GDP is $200 billion. Final sales in 2008

A) are $130 billion. 
B) are $200 billion.

C) are $270 billion. 
D) are $340 billion.

Answer: C

19) In 2007, GDP was exactly equal to final sales. This implies that

A) there was accumulation of inventories that year.

B) there was a decline in inventories that year.

C) there was no change in inventories that year.

D) GDP did not grow that year compared to the year before.

Answer: C

20) If the change in business inventories is zero, then final sales are

A) zero. 
B) less than GDP.

C) greater than GDP. 
D) equal to GDP.

Answer: D

21) If in a year there is a positive inventory investment, then final sales

A) exceed GDP.
 B) are less than GDP.

C) equal GDP.
 D) are zero.

Answer: B

22) Net investment equals

A) GDP minus final sales.
 B) gross investment minus final sales.

C) gross investment minus depreciation. 
D) depreciation plus GDP.

Answer: C

23) If net investment is zero, then

A) gross investment is greater than depreciation.

B) gross investment is less than depreciation.

C) gross investment equals depreciation.

D) depreciation is zero.

Answer: C

24) Suppose that net investment in 2008 was $20 billion and depreciation was $4 billion. Gross investment in 2008 was

A) $16 billion. 
B) $20 billion. 
C) $24 billion. 
D) $28 billion.

Answer: C
25) The total value of all capital goods newly produced in a given period is

A) the change in business inventories. 
B) depreciation.

C) net investment. 
D) gross investment.

Answer: D

26) The change in capital stock in a period is equal to

A) the ratio of the amount of the capital at the beginning of the period to the amount of depreciation.

B) the amount of the capital stock at the beginning of the period plus gross investment minus depreciation.

C) the amount of the capital at the beginning of the period plus gross investment.

D) the amount of the capital at the beginning of the period minus net investment.

Answer: B

27) Net investment is

A) gross investment minus depreciation. 
B) gross investment plus depreciation.

C) depreciation minus gross investment. 
D) GNP minus final sales.

Answer: A

28) Depreciation is

A) the decrease in the overall price level.

B) the additional capital stock in a year.

C) the amount of used up machinery in a year.

D) the amount of decline in business inventories.

Answer: C

29) If net investment in 2007 is $350 billion and gross investment in 2007 is $500 billion,

depreciation in 2007 is

A) $0.7 billion. 
B) $150 billion. 
C) $175 billion. 
D) $250 billion.

Answer: B

3) Exports equal

A) imports - net exports. 
B) net exports + imports.

C) net exports - imports. 
D) imports + (exports + imports).

Answer: B

34) When calculating GDP, exports are ________ and imports are ________.

A) added; added 
B) added; subtracted

C) subtracted; added 
D) subtracted; subtracted

Answer: B

35) If the value of net exports is negative, then

A) exports exceed imports. 
B) imports exceed exports.

C) exports equal imports. 
D) imports are zero.

Answer: B

37) What should be subtracted from GDP to calculate national income?

A) depreciation

B) indirect taxes

C) personal income taxes.

D) net factor payments to the rest of the world

Answer: A

41) What type of tax affects the amount of money you pay for a product?

A) direct tax 
B) income tax

C) indirect tax 
D) all of the above

Answer: C

42) Depreciation is

A) subtracted from national income to get GDP.

B) added to national income to get GDP.

C) subtracted from GNP to get NNP.

D) added to GNP to get NNP.

Answer: C

47) If receipts of factor income from the rest of the world exceed payments of factor income to the rest of the world, then

A) GDP is greater than GNP. 
B) GDP equals GNP.

C) GNP equals NNP.
D) GNP is greater than GDP.

Answer: D
Refer to the information provided in Table 6.4 below to answer the questions that follow.

Table 6.4
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48) Refer to Table 6.4. The value for GDP in billions of dollars is

A) 910. 
B) 920. 
C) 790. 
D) 1,050.

Answer: C

GDP = C + I + G + x - M 
I = Gross investment = Net investment + depreciation = 150 + 30 = 180
GDP = 500 + 180 + 90 + 60 – 40 = 790

49) Refer to Table 6.4. The value for GNP in billions of dollars is

A) 900. 
B) 770. 
C) 980.
 D) 1,010.

Answer: B

GNP = GDP + receipts of factors of production from the rest of the world – payments of factors of production to the rest of the world = 790 + 20 – 40 = 770

50) Refer to Table 6.4. The value for NNP in billions of dollars is

A) 740. 
B) 910. 
C) 940. 
D) 970.

Answer: A

NNP= GNP – Depreciation = 770 – 30 = 740

51) Refer to Table 6.4. The value for national income in billions of dollars is

A) 740. 
B) 910. 
C) 940. 
D) 970.

Answer: A
National Income = NNP – Indirect taxes + subsidies

National income = 740 – 0 + 0 = 740 

52) Refer to Table 6.4. The value for personal income in billions of dollars is

A) 870. 
B) 890. 
C) 950. 
D) 960.

Answer: A
PI = NI – amount of income not going to the households  + dividends = 740 – 30 + 10 = 760

53) Refer to Table 6.4. The value for disposable personal income in billions of dollars is

A) 670. 
B) 770. 
C) 820. 
D) 990.

Answer: A
DPI = PI – Personal taxes 

DPI = 760 – 90 = 670 

54) If GNP is $600 billion, receipts of factor income from the rest of the world are $50 billion, and payments of factor income to the rest of the world are $30 billion, then GDP is

A) $520 billion. 
B) $580 billion. 
C) $620 billion. 
D) $680 billion.

Answer: B

55) If GNP is $200 billion, receipts of factor income from the rest of the world are $10 billion, and

payments of factor income to the rest of the world are $30 billion, then GDP is

A) $160 billion.
 B) $210 billion. 
C) $220 billion. 
D) $240 billion.

Answer: C

56) If GDP is $500 billion and depreciation is $40 billion, then net national product

A) is $460 billion.

B) is $500 billion.

C) is $540 billion.

D) cannot be determined from this information.

Answer: D

57) If GDP is $300 billion, depreciation is $30 billion, and net factor income from the rest of the world is -$40 billion, then net national product is

A) $230 billion. 
B) $270 billion. 
C) $290 billion. 
D) $310 billion.

Answer: D

58) If GNP is $800 billion and depreciation is $90 billion, then net national product is

A) $710 billion. 
B) $845 billion. 
C) $890 billion. 
D) $980 billion.

Answer: A

59) If GNP is $200 billion and depreciation is $20 billion, then net national product is

A) $100 billion. 
B) $180 billion. 
C) $210 billion. 
D) $220 billion.

Answer: B

61) Net national product is

A) GDP plus depreciation. 
B) GDP minus depreciation.

C) GNP minus depreciation. 
D) GNP plus depreciation.

Answer: C

63) Personal income is national income minus

A) depreciation.

B) net factor income to the rest of the world.

C) the amount of national income not going to households.

D) imports.

Answer: C

64) If national income is $600 billion, personal income is $400 billion, personal taxes are $120 billion, then disposable income equals

A) $480 billion. 
B) $320 billion. 
C) $280 billion. 
D) $80 billion.

Answer: C

65) Which of the following is subtracted from national income to get to personal income?

A) retained earnings 
B) personal interest income

C) depreciation 
D) personal Taxes

Answer: A

66) Personal income

A) is always less than national income.

B) is always greater than national income.

C) may be greater than or less than national income.

D) will always equal national income.

Answer: C

67) If personal income is $925 billion and personal income taxes are $70 billion, the value of disposable personal income is

A) $835 billion. 
B) $855 billion. 
C) $890 billion. 
D) $995 billion.

Answer: B

68) If personal saving is -$10 billion and disposable personal income is $370 billion, then personal consumption spending

A) is $360 billion.

B) is $380 billion.

C) is $390 billion.

D) cannot be determined from this information.

Answer: B

69) The personal saving rate is

A) the difference between total personal spending and personal saving.

B) the difference between personal income and disposable personal income.

C) the ratio of personal income to personal saving.

D) the percentage of disposable personal income that is saved.

Answer: D

70) If disposable personal income is $400 billion and personal saving is $8 billion, the personal saving rate is

A) 1.5%. 



B) 2%. 
C) 5%. 



D) 12%.

Answer: B

71) If the personal saving rate is 5% and personal saving is $10 billion, the value of personal

disposable income

A) is $100 billion.

B) is $200 billion.

C) is $500 billion.

D) cannot be determined from this information.

Answer: B

2 True/False

1) Transfer payments are subtracted from national income to get to personal income.

Answer: FALSE

2) If investment is larger than depreciation, the capital stock decreases.

Answer: FALSE

3) Depreciation is included in GDP, but excluded from NNP.

Answer: TRUE

4) Final sales plus changes in inventories equals GDP.

Answer: TRUE

5) New houses count as consumer durables.

Answer: FALSE

6) Dairy Queen opens a branch in Estonia. The sales of the restaurant enter the U.S. GDP and the Estonian GNP.

Answer: FALSE

7) Consumers can spend their entire personal income.

Answer: FALSE

8) The difference between GNP and GDP is depreciation.

Answer: FALSE

9) Disposable personal income is personal income minus personal taxes.

Answer: TRUE

1 Multiple Choice

1) Nominal GDP measures the value of all goods and services

A) in constant dollars. 
B) in current dollars.

C) in fixed dollars. 
D) without inflation.

Answer: B

2) Gross domestic product measured in terms of the prices of a fixed, or base, year is

A) current GDP. 
B) base GDP. 
C) real GDP. 
D) nominal GDP.

Answer: C

3) Nominal GDP is gross domestic product measured

A) in the prices of a base year.

B) in current dollars.

C) at a constant output level but at the base-year prices.

D) as the difference between the current yearʹs GDP and last yearʹs GDP.

Answer: B

4) Real GDP is gross domestic product measured

A) at a constant output level but at current prices.

B) in current dollars.

C) in the prices of a base year.

D) as the difference between the current yearʹs GDP and last yearʹs GDP.

Answer: C

5) If real GDP in 2007 using 2006 prices is lower than nominal GDP of 2007, then

A) prices in 2007 are lower than prices in 2006.

B) nominal GDP in 2007 equals nominal GDP in 2006.

C) prices in 2007 are higher than prices in 2006.

D) real GDP in 2007 is larger than real GDP in 2006.

Answer: C

6) If real GDP in 2008 using 2007 prices is higher than nominal GDP of 2008, then

A) prices in 2008 are lower than prices in the base year.

B) nominal GDP in 2008 equals nominal GDP in 2007.

C) prices in 2008 are higher than prices in the base year.

D) real GDP in 2008 is larger than real GDP in 2007.

Answer: A

Refer to the information provided in Table 6.5 below to answer the questions that follow.

Table 6.5

[image: image3.jpg]Production Prices
Year1l Year2 Year3 Year1l Year2 Year3
Good X 50 75 100 $1.00 $1.00 $1.20
Good Y 100 100 130 $0.60 $0.75 $1.00




7) Refer to Table 6.5. Assume that this economy produces only two goods Good X and Good Y. The value for this economyʹs nominal GDP in year 1

A) is $140. 
B) is $160. 
C) is $180. 
D) is $200.

Answer: A

8) Refer to Table 6.5. Assume that this economy produces only two goods Good X and Good Y. The value for this economyʹs nominal GDP in year 3 is

A) $204. 
B) $222. 
C) $250. 
D) $270.

Answer: D

9) Refer to Table 6.5. Assume that this economy produces only two goods Good X and Good Y. The value for this economyʹs nominal GDP in year 2 is

A) $168. B) $179. C) $202. D) $214.

Answer: B
10) Refer to Table 6.5. Assume that this economy produces only two goods Good X and Good Y. If year 1 is the base year, the value for this economyʹs real GDP in year 2 is

A) $168. B) $179. C) $202. D) $214.

Answer: A

11) Refer to Table 6.5. Assume that this economy produces only two goods Good X and Good Y. If year 1 is the base year, the value for this economyʹs GDP deflator in year 1 is

A) 1. 
B) 100.
 C) 110.
 D) 111.

Answer: B

12) Refer to Table 6.5. Assume that this economy produces only two goods Good X and Good Y. If year 1 is the base year, the value for this economyʹs GDP deflator in year 2 is

A) 93.9.
 B) 100.
 C) 106.5.
 D) 179.

Answer: C

13) Refer to Table 6.5. Assume that this economy produces only two goods Good X and Good Y. If year 1 is the base year, the value for this economyʹs inflation rate between year 1 and year 2 is

A) -6.1%. 
B) -5.5%. 
C) 6.5%. 
D) 79%.

Answer: C

14) The GDP deflator is the

A) difference between real GDP and nominal GDP multiplied by 100.

B) difference between nominal GDP and real GDP multiplied by 100.

C) ratio of nominal GDP to real GDP multiplied by 100.

D) ratio of real GDP to nominal GDP multiplied by 100.

Answer: C

15) If nominal GDP is $8 trillion and real GDP is $6 trillion, the GDP deflator is

A) 48.   

 B) 75.    

C) 133.33.     

D) 480.

Answer: C

16) If the GDP deflator is greater than 100, then

A) nominal GDP is greater than real GDP.

B) nominal GDP is lower than real GDP.

C) nominal GDP equals real GDP.

D) prices decreased by more than half between the current and the base years.

Answer: A

17) The GDP deflator in year 2 is 110 and the GDP deflator in year 3 is 118. The rate of inflation between years 2 and 3 is

A) 4.55%. 
B) 7.27%. 
C) 8%. 
D) 18%.

Answer: B

2 True/False

1) If in the same period output doubles and the price level remains the same, nominal GDP doubles.

Answer: TRUE

2) A GDP deflator is real GDP divided by nominal GDP times 100.

Answer: FALSE

3) If the GDP deflator next year is less than the GDP deflator this year, then the price level has fallen.

Answer: TRUE

4) GDP measured in base year prices is real GDP.

Answer: TRUE

5) If nominal GDP rises, then so must real GDP.

Answer: FALSE

6) If real GDP rises, then so must nominal GDP.

Answer: FALSE

7) If real GDP increased during a year, then output must have increased.

Answer: TRUE

6.4 Limitations of the GDP Concept

1 Multiple Choice

1) GDP is not a perfect measure of social welfare and the societyʹs economic well-being because

A) it does not say anything about the distribution of income.

B) GDP accounting rules do not adjust for production that causes negative externalities.

C) it does not include all economic activities in the economy.

D) all of the above

Answer: D

2) Legalizing all forms of illegal activities would

A) reduce measured GDP.

B) reduce the size of the underground economy and increase measured GDP.

C) reduce both the underground economy and measured GDP.

D) increase the size of the underground economy and reduce measured GDP.

Answer: B

3) Per capita gross national income (GNI) decreases when

A) GNI and the population increase at the same rate.

B) GNI does not change and the population increases.

C) GNI and the population decrease at the same rate.

D) GNI increases and the population does not change.

Answer: B

4) Gross national income is

A) GNP converted into dollars using an average exchange rate over several years adjusted for rates of inflation.

B) GDP converted into dollars using an average exchange rate over several years adjusted for rates of inflation.

C) GNP measured using an incomes approach.

D) GNP divided by population.

Answer: A
5) The base year of an index is

A) the year chosen for the weights in a fixed weight procedure.

B) the year currently being calculated.

C) the last year of the index.

D) the first year of the index.

Answer: A

2 True/False

1) All economic activities in the economy are included in the GDP.

Answer: FALSE

2) The costs of pollution are subtracted from the value of final sales before calculating GDP.

Answer: FALSE

3) A weakness in the concept of GDP is that it ignores income distribution.

Answer: TRUE

4) Production in the illegal or underground economy is not reflected in GDP.

Answer: TRUE

5) Fixed weight indexes can not account for new goods.

Chapter 3 Unemployment, Inflation, and Long-Run Growth

7.1 Unemployment

1 Multiple Choice

1) We can safely say that total output can increase if there is a(n)

A) increase in the size of the labor force and a decrease in the productivity of workers.

B) decrease in the size of capital and an increase in the productivity of machines.

C) increase in the number of machines per worker.

D) decrease in the number of workers per machine.

Answer: C

2) The productivity of workers is defined as the

A) total output produced by the labor force.

B) output produced by a worker per hour.

C) number of hours a worker spends at work.

D) number of workers needed to produce one dayʹs volume of output.

Answer: B

3) The capital per worker ratio is a measure of

A) how many tools or machines each worker has to work with.

B) how productive workers are.

C) how much GDP is growing.

D) how much borrowed money is needed per worker.

Answer: A

4) Productivity is the ratio of

A) total output to the total number of worker hours.

B) total output to the total population.

C) total output to the total number of unemployed.

D) total capital to the total number of workers.

Answer: A

8) For you to be considered out of the labor force, you can be

A) a full-time student. 
B) a full-time retiree.

C) a full-time volunteer. 
D) any of the above

Answer: D

9) Cheryl graduated from college a month ago and is now without work. She accepted a job that will start next month. Today, Cheryl is

A) not in the labor force. 
B) in the labor force.

C) employed. 
D) a discouraged worker.

Answer: B

10) The number of people unemployed equals

A) the number of people employed minus the labor force.

B) the labor force plus the number of people employed.

C) the labor force minus the number of people employed.

D) the number of people employed divided by the labor force.

Answer: C

11) Jake retired from the police force. He started working an hour or two a day at a paid job in

cityʹs courthouse. Jake is

A) employed. 
B) in the labor force.

C) unemployed. 
D) not in the labor force.

Answer: A

12) Diane lost her job and immediately started looking for another job. As a result the

A) unemployment rate increases. 
B) labor force increases.

C) labor force decreases. 
D) unemployment rate remains constant.

Answer: A

Refer to the information provided in Table 7.1 below to answer the questions that follow.

Table 7.1

Employed                                   14,000 people

Unemployed                               3,000 people

Not in the Labor Force              4,000 people

13) Refer to Table 7.1. The labor force equals

A) 14,000 people.
B) 17,000 people. 
C) 18,000 people. 
D) 21,000 people.

Answer: B

14) Refer to Table 7.1. The unemployment rate is

A) 17.6%. 
B) 16.7%. 
C) 14.3%. 
D) 25.0%.

Answer: A

15) Refer to Table 7.1. The labor-force participation rate is

A) 75.0%. 
B) 66.7%. 
C) 77.8%. 
D) 80.9%.

Answer: D

16) Refer to Table 7.1. The employment rate is

A) 85.7%. 
B) 83.3%. 
C) 82.4%. 
D) 75.0%.

Answer: C

Refer to the information provided in Table 7.2 below to answer the questions that follow.

Table 7.2
	Labor force participation rate                 
	75%

	Total population 16 years of age and older 
	200 million

	Unemployment rate
	10%


17) Refer to Table 7.2. The labor force

A) equals 150 million.

B) equals 130 million.

C) equals 170 million

D) cannot be determined from this information.

Answer: A

18) Refer to Table 7.2. The total number of people unemployed is

A) 20 million. 
B) 13 million. 
C) 17 million. 
D) 15 million.

Answer: D

19) Refer to Table 7.2. The total number of people employed is

A) 153 million. 
B) 117 million. 
C) 135 million. 
D) 180 million.

Answer: C

20) The unemployment rate is

A) unemployed/population × 100.

B) (employed - unemployed)/labor force × 100.

C) (labor force - employed)/labor force × 100.

D) (employed - labor force)/employed × 100.

Answer: C

21) The number of people classified as employed is 260,000 and the number of people classified as unemployed is 30,000. The size of the labor force

A) equals 290,000. 
B) equals 230,000.

C) equals 260,000. 
D) equals 320,000.

Answer: A

22) The number of people classified as employed is 350,000 and the number of people in the labor force is 500,000. The total number of people classified as unemployed is

A) 350,000. 
B) 150,000. 
C) 425,000. 
D) 500,000.

Answer: B

23) If the number of people classified as unemployed is 20,000 and the number of people classified as employed is 400,000, what is the unemployment rate?

A) 2.0% 
B) 4.8% 
C) 5.0% 
D) 9.2%

Answer: B

25) If the number of people employed is 150,000 and the labor force is 170,000, the unemployment rate is

A) 6.25%. 
B) 11.76%. 
C) 2.5%. 
D) 6.55%.

Answer: B

26) If the unemployment rate is 6.2% and the number of people employed is 200,000, the total number of people unemployed is approximately

A) 12,400 people

B) 10,970 people.

C) 13,220 people.

D) cannot be determined from this information

Answer: C

27) If the unemployment rate is 6.2% and the number of people employed is 200,000, the labor force is approximately

A) 212,400 people.

B) 210,970 people

C) 213,220 people.

D) cannot be determined from this information

Answer: C

28) If the labor force is 320,000 and the total population 16 years of age or older is 400,000, the labor-force participation rate is

A) 72%. 
B) 76%. 
C) 80%.
 D) 88%.

Answer: C

29) If the labor-force participation rate is 82% and the total population 16 years of age or older is 1 million people, the labor force is

A) 910,000 people. 
B) 820,000 people.

C) 740,000 people. 
D) 180,000 people.

Answer: B

30) If the number of unemployed equals 30,000, the number of employed equals 60,000, and the number not in the labor force is 10,000, the labor-force participation rate

A) is 90%.

B) is 67%.

C) is 88.9%.

D) cannot be determined from this information.

Answer: A

31) If the number of unemployed equals 240,000 and the number of employed equals 300,000, the labor-force participation rate

A) is 80%.

B) is 24%.

C) is 55.6%.

D) cannot be determined from this information.

Answer: D

33) When an individual quits his/her job and decides to stay at home for a while, the labor –force  participation rate

A) decreases.

B) increases.

C) stays the same.

D) may increase or decrease, depending on the length of time he/she stays at home.

Answer: A

34) Mike has just graduated from college and is now looking for a job, but has not yet found one. This causes the unemployment rate to ________ and the labor -force participation rate to ________.

A) increase; decrease 
B) stay the same; stay the same

C) increase; increase 

D) increase; stay the same

Answer: C

35) Discouraged workers are

A) considered cyclically unemployed.

B) considered structurally unemployed.

C) considered frictionally unemployed.

D) not considered as part of the labor force.

Answer: D

37) When 100 people who were previously looking for jobs stop looking for jobs, the

A) unemployment rate increases.

B) size of the labor force decreases.

C) labor-force participation rate does not change.

D) unemployment rate does not change.

Answer: B

38) Classifying discouraged workers as unemployed would

A) increase the unemployment rate.

B) decrease the unemployment rate.

C) not change the unemployment rate.

D) have an indeterminate impact on the unemployment rate.

Answer: A

41) Which of the following statements is TRUE?

A) The unemployment rate does not tell us anything about the duration of unemployment.

B) The duration of unemployment decreases during recessions.

C) The duration of unemployment increases during economic expansions.

D) The median duration of unemployment is usually greater than the average duration.

Answer: A

42) The labor force participation rate is the

A) total number of people who are participating in the labor force.

B) ratio of the number of employed people to the number of unemployed people.

C) ratio of the labor force to the total population 16 years old or older.

D) the number of people in the labor force minus the number of people who are unemployed.

Answer: C

43) During recessions, the number of discouraged workers ________ and this ________ the

unemployment rate.

A) falls; reduces 
B) decreases; increases

C) increases; reduces 
D) increases; increases

Answer: C

45) When an economics professor quits his/her job at a university and starts looking for a better job in another university, he/she is

A) frictionally unemployed. 
B) structurally unemployed.

C) cyclically unemployed. 
D) naturally unemployed.

Answer: A

47) A man is fired from his job because he was late for work too many times. While he is searching for another job he would be classified as

A) not in the labor force because his employer had a legitimate reason for firing him.

B) structurally unemployed.

C) cyclically unemployed.

D) frictionally unemployed.

Answer: D

49) When an individual is not working and is not looking for a job because he/she lacks any marketable job skills, he/she is

A) structurally unemployed. 
B) frictionally unemployed.

C) cyclically unemployed. 
D) none of the above

Answer: D

50) Structural unemployment is the

A) portion of unemployment that is due to changes in the structure of the economy that result in a significant loss of jobs in certain industries.

B) unemployment that occurs during recessions and depressions.

C) portion of unemployment that is due to the normal working of the labor market.

D) unemployment that results when people become discouraged about their chances of finding a job so they stop looking for work.

Answer: A

3) An individual who cannot find a job because his or her job skills have become obsolete is an example of

A) frictional unemployment. 
B) structural unemployment.

C) cyclical unemployment. 
D) seasonal unemployment.

Answer: B

54) The natural rate of unemployment is generally thought of as the

A) ratio of the frictional unemployment rate to the cyclical unemployment rate.

B) sum of structural unemployment and cyclical unemployment.

C) sum of frictional unemployment and cyclical unemployment.

D) sum of frictional unemployment and structural unemployment.

Answer: D

55) The sum of frictional and structural unemployment is thought of as the

A) natural rate of unemployment. 
B) normal rate of unemployment.

C) cyclical rate of unemployment. 
D) seasonal rate of unemployment.

Answer: A

57) If the labor market becomes more efficient so that the unemployed are more quickly matched with jobs, then

A) the natural rate of unemployment will increase.

B) the natural rate of unemployment will decrease.

C) the natural rate of unemployment will not change.

D) the natural rate of unemployment could either increase or decrease.

Answer: B

59) The increase in unemployment that occurs during recessions and depressions is called

A) frictional unemployment. 
B) structural unemployment.

C) cyclical unemployment. 
D) normal unemployment.

Answer: C

60) Cyclical unemployment is the

A) portion of unemployment that is due to changes in the structure of the economy that result in a significant loss of jobs in certain industries.

B) unemployment that occurs during recessions and depressions.

C) portion of unemployment that is due to the normal working of the labor market.

D) unemployment that results when people become discouraged about their chances of finding a job so they stop looking for work.

Answer: B

2 True/False

1) When more people who are not working start looking for jobs, the labor -force participation rate increases.

Answer: TRUE

2) Labor productivity is total output divided by the total number of worker hours.

Answer: TRUE

3) An increase in search costs will decrease structural unemployment.

Answer: FALSE

4) The natural rate of unemployment is the unemployment rate during a period of full employment.

Answer: TRUE

5) Anyone 16 years of age or older who is not classified as employed is classified as unemployed.

Answer: FALSE

6) If discouraged workers were counted as unemployed, the measured unemployment rate would increase.

Answer: TRUE

7) An unemployment rate of 10% means that the average worker has been unemployed for 10% of the year.

Answer: FALSE

8) If labor markets were perfectly efficient, the unemployment rate would fall to zero. 
Answer: FALSE

9) The natural rate of unemployment in the economy is determined by the Congress and the president of the country.

Answer: FALSE

7.2 Inflation

1) In which of the following conditions is the inflation rate likely to fall and the unemployment rate likely to rise?

A) hyperinflation 
B) recession 
C) boom 
D) stagflation

Answer: B

2) Which of the following statements is TRUE?

A) The costs of recessions are distributed equally among all groups of the population.

B) Recessions tend to increase the demand for imports and therefore improve the nationʹs balance of payments.

C) Recessions may increase efficiency by driving the least efficient firms in the economy out of business.

D) A recession may lead to an increase in the inflation rate.

Answer: C

3) An economic boom tends to ________ the demand for imports, which ________ a nationʹs

balance of payments.

A) reduce; worsens. 
B) reduce; improves.

C) increase; improves. 
D) increase; worsens.

Answer: D

4) The floods of 1993 caused the price of corn to increase. This is an example of

A) inflation. 
B) deflation.

C) a sustained inflation. 
D) the operations of supply and demand.

Answer: D

5) The decrease in the demand for mainframe computers caused manufacturers of mainframe computers to reduce prices by 20%. This is an example of

A) inflation. 
B) deflation.

C) a sustained inflation. 
D) the operations of supply and demand.

Answer: D

6) Inflation is an increase in

A) the price of one item. 
B) the overall price level.

C) the average income level. 
D) real gross national product.

Answer: B

7) An increase in the overall price level is

A) inflation. 
B) deflation. 
C) a price index. 
D) a recession.

Answer: A

8) Deflation is a decrease in

A) the price of one item. 
B) the overall price level.

C) the average income level. 
D) real gross national product.

Answer: B

9) An increase in the overall price level that continues over a significant period of time is

A) high inflation. 
B) sustained recovery.

C) sustained inflation. 
D) super inflation.

Answer: C

10) A price index is

A) a measurement showing how the average price of a bundle of goods changes over time.

B) a measurement showing the cost of a bundle of goods at a point in time.

C) a sustained increase in the overall price level.

D) a decrease in the overall price level.

Answer: A

Refer to the information provided in Table 7.3 below to answer the questions that follow.

Table 7.3
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Price per Unit in
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Blueberries 8 $2.00 $2.00 $2.10 $2.40
Pineapples 5 $2.00 $2.50 $250 $3.00
Cheese 3 $2.50  $3.00 $3.50 $4.00





11) Refer to Table 7.3. Suppose 2006 is the base year. The price index in 2006 is

A) 1,000. 
B) 100. 
C) 1. 
D) 10.

Answer: B

12) Refer to Table 7.3. If 2006 is the base year, the price index in 2005 is

A) 96.0. 
B) 104.0. 
C) 111.9. 
D) 89.3.

Answer: D

13) Refer to Table 7.3. If 2006 is the base year, the price index in 2007 is

A) 93.9. 
B) 106.1. 
C) 94.2. 
D) 105.8.

Answer: B

14) Refer to Table 7.3 If 2006 is the base year, the price index in 2008 is

A) 81.2. B) 118.8. C) 123.2. 
D) 86.8.

Answer: C

15) Refer to Table 7.3. If 2006 is the base year, the inflation rate between 2006 and 2007 is

A) 3.9%. 
B) 10.2%.
 C) 7.4%.
 D) 6.1%.

Answer: D

16) Refer to Table 7.3. If 2006 is the base year, the inflation rate between 2006 and 2007 is ________%, and the inflation rate between 2007 and 2008 is ________ %.

A) 7.4; 13.9
 B) 6.1; 16.1
 C) 3.9; 17.1 
D) 10.2; 10.4

Answer: B

17) Refer to Table 7.3. The lowest inflation rate is between the years

A) 2007 and 2008.

B) 2006 and 2007.

C) 2005 and 2006.

D) cannot be determined from the given information

Answer: B

Refer to the information provided in Table 7.4 below to answer the questions that follow.

Table 7.4
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18) Refer to Table 7.4. The bundle price for the goods in period 2006 is

A) $100.
 B) $41.
 C) $50.50.
 D) $57.50.

Answer: B

19) Refer to Table 7.4. If 2006 is the base period, the price index in 2006 is

A) 1000. 
B) 100. 
C) 10. 
D) 1.

Answer: B

20) Refer to Table 7.4. If 2006 is the base year, the price index in 2007 is

A) 81.9. 
B) 123.2. 
C) 119.1.
 D) 76.8.

Answer: B

21) Refer to Table 7.4. If 2006 is the base year, the price index in 2008 is

A) 71.3.
 B) 140.2.
 C) 59.8. 
D) 128.7.

Answer: B

22) Refer to Table 7.4. If 2006 is the base year, the inflation rate between 2006 and 2007 is

A) 12.4%.
 B) 19.1%. 
C) 23.2%.
 D) 17.6%.

Answer: C

23) Refer to Table 7.4. If 2006 is the base year, the inflation rate between 2006 and 2008 is

A) 28.7%. 
B) 17.4%.
C) 25.1%. 
D) 40.2%.

Answer: D

24) Refer to Table 7.4. If 2007 is the base year, the inflation rate between 2007 and 2008 is

A) 12.2%. 
B) 7.0%. 
C) 13.9%. 
D) 9.4%.

Answer: C

25) If period 1 is the base year, the bundle price of goods in period 1 is $300, and the bundle price of goods in period 2 is $320, the period 2 price index is

A) 93.8. 
B) 106.2. 
C) 93.3. 
D) 106.7.

Answer: D

26) If 2007 is the base year, the bundle price of goods in 2007 is $500, and the bundle price of

goods in 2008 is $700, the 2008 price index is

A) 128.6.
 B) 140.0. 
C) 71.4. 
D) 60.0.

Answer: B

27) Which of the following statements is FALSE?

A) One problem with any fixed-bundle index as a measure of the cost of living is that it does not account for substitutions that consumers might make in response to price changes.

B) The producer price index is considered to be a leading indicator of future inflation rates.

C) The best overall indicator of inflationary pressures in the economy is the GDP deflator.

D) The consumer price index somewhat understates changes in the cost of living.

Answer: D

28) A price index that tends to be a leading indicator of future inflation rates is the

A) consumer price index. 
B) producer price index.

C) GDP price index. 
D) retail price index.

Answer: B

29) The broadest-based price index available is the

A) GDP deflator.
 B) producer price index.

C) consumer price index. 
D) wholesale price index.

Answer: A

30) Most economists consider the ________ as the best overall indicator of inflationary pressures in the economy.

A) producer price index 
B) GDP deflator

C) wholesale price index 
D) consumer price index

Answer: B
32) The difference between the interest rate on a loan and the inflation rate is the

A) nominal interest rate.
 B) inflation premium.

C) real interest rate. 
D) expected interest rate.

Answer: C

33) Which of the following increases the real interest rate?

A) a decrease in the nominal interest rate, holding the inflation rate constant

B) an increase in both the nominal interest rate and the inflation rate by the same percentage points

C) a decrease in the inflation rate, holding the nominal interest rate constant

D) a decrease in both the nominal interest rate and the inflation rate by the same percentage points

Answer: C

34) If Mr. Garrison is paid an interest rate of 4% on his savings, but the inflation rate is 7%, the real interest rate Mr. Garrison earns is

A) 4%. 
B) -3%. 
C) -7%. 
D) 28%.

Answer: B

35) You want to make a 10% real return on a loan that you are planning to make, and the expected inflation rate during the period of the loan is 4%. You should charge a nominal interest rate of

A) 6%. 
B) -6%. 
C) 10%. 
D) 14%.

Answer: D

45) Lola wants to make an 6% real return on a loan that she is planning to make, and the expected inflation rate during the period of the loan is 5%. She should charge an interest rate of

A) 6%.
 B) 16%. 
C) 11%. 
D) 1%.

Answer: C

46) If the inflation rate is smaller than the nominal interest rate, the real interest rate is

A) positive. 
B) negative.

C) zero. 
D) either positive or zero.

Answer: A

49) Which of the following is a cost of anticipated inflation?

A) Debtors are made worse off.

B) If people are not fully informed about the price level changes, resources will be misallocated.

C) The degree of risk associated with investments in the economy increases.

D) Creditors are made worse off.

Answer: B

50) Stopping inflation

A) can only benefit the economy, because the price level will be reduced.

B) may be costly, if the inflation is stopped by inducing a recession.

C) may be costly, but the benefits of stopping inflation will always outweigh the costs of such actions.

D) will have no benefits or costs associated with it.

Answer: B
51) Which of the following statements is FALSE?

A) Whether you gain or lose during a period of inflation depends on whether your income rises faster or slower than the prices of the things you buy.

B) Inflation that is higher than expected benefits debtors, and inflation that is lower than expected benefits creditors.

C) There are no costs or losses associated with anticipated inflation.

D) When unanticipated inflation occurs regularly, the degree of risk associated with investments in the economy increases.

Answer: C

52) When unanticipated inflation occurs regularly, the degree of risk associated with investments in the economy

A) increases. B) decreases.

C) remains stable. D) falls to zero.

Answer: A

2 True/False

1) The CPI somewhat overstates changes in the cost of living because it does not allow for substitutions that consumers might make in response to price changes.

Answer: TRUE

2) An inflation rate that is lower than expected benefits creditors.

Answer: TRUE

3) There are no costs associated with inflation if the inflation rate is perfectly anticipated.

Answer: FALSE

4) The actual real rate of interest is the nominal rate less the actual inflation rate.

Answer: TRUE

7.3 Long-Run Growth

1) Output in an economy can be increased by

A) adding more workers. 
B) limiting the work week.

C) using fewer machines.
 D) decreasing inflation.

Answer: A

2) A prolonged and deep recession is a

A) hyperinflation.
 B) slowdown.

C) contraction. 
D) depression.

Answer: D

2 True/False

1) The only source of economic growth is growth in the number of workers in the economy.

Answer: FALSE

2) If the population is growing as fast the economy, then per capita output is growing.

Answer: FALSE

3) If more workers have more capital to work with, then production will increase.

Answer: TRUE

4) Productivity is output per worker hour.

Answer: TRUE

Chapter 4 Aggregate Expenditure and Equilibrium Output

8.1 The Keynesian Theory of Consumption

1) The MPC is

A) the change in consumption divided by the change in income.

B) consumption divided by income.

C) the change in consumption divided by the change in saving.

D) the change in saving divided by the change in income.

Answer: A

2) The MPS is

A) the change in saving divided by the change in income.

B) 1 + MPC

C) income divided by saving.

D) total saving divided by total income.

Answer: A

3) Saving equals

A) Y - C. 
B) Y - planned I.

C) Y - actual I. 
D) Inventory changes.

Answer: A

4) If the MPS is .60, MPC

A) is 1.60.

B) is .30.

C) is .40.

D) cannot be determined by the given information.

Answer: C

5) If you earn additional $500 in disposable income one week for painting your neighbors house,

A) the total of your consumption and saving will increase by more than $500.

B) the total of your consumption and saving will increase by $500.

C) the total of your consumption and saving will increase by less than $500.

D) your consumption will increase by more than $500, even if your MPS is 0.1.

Answer: B

6) If Logan received a $2,500 bonus and his MPS is 0.20, his consumption rises by $________ and his saving rises by $________.

A) 500; 100 
B) 2,500; 200 
C) 2,000; 500 
D) 2,500; 20

Answer: C

7) Saving is a ________ variable and savings is a ________ variable.

A) flow; flow 
B) stock; stock 
C) flow; stock 
D) stock; flow

Answer: C

8) Uncertainty about the future is likely to

A) increase current spending.

B) have no impact on current spending.

C) decrease current spending.

D) either increase or decrease current spending.

Answer: C

9) Higher interest rates are likely to

A) have no effect on consumer spending or saving.

B) decrease consumer spending and increase consumer saving.

C) decrease both consumer spending and consumer saving.

D) increase consumer spending and decrease consumer saving.

Answer: B

10) Consumption is

A) positively related to household income and wealth and householdsʹ expectations about the future, but negatively related to interest rates.

B) negatively related to household income and wealth, interest rates, and householdsʹ expectations about the future.

C) determined only by income.

D) positively related to household income and wealth, interest rates, and householdsʹ expectations about the future.

Answer: A

11) In a closed economy with no government, aggregate expenditure is

A) consumption plus investment.
 B) saving plus investment.

C) consumption plus the MPC.
 D) MPC + MPS.

Answer: A

12) If Wandaʹs income is reduced to zero after she loses her job, her consumption will be ________ and her saving will be ________.

A) less than zero; less than zero 
B) greater than zero; greater than zero

C) less than zero; greater than zero 
D) greater than zero; less than zero

Answer: D

Refer to the information provided in Figure 8.1 below to answer the questions that follow.
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13) Refer to Figure 8.1. The MPS for this household is ________ and the MPC is ________.

A) 0.4; 0.6 
B) 0.5; 0.5 
C) 0.2; 0.8 
D) 0.3; 0.7

Answer: B

14) Refer to Figure 8.1. The equation for this householdʹs saving function is

A) S = -200 + .8Y. 
B) S = -300 + 0.25Y.

C) S = -500 + .5Y. 
D) S = -1,000 + 0.8Y.

Answer: C

15) Refer to Figure 8.1. At income level $1,500, this householdʹs saving is ________ than (to) zero and this householdʹs consumption is ________ zero.

A) less than; greater than 
B) equal to ; equal to

C) greater than; less than 
D) greater than; greater than

Answer: D

16) Refer to Figure 8.1. This householdʹs consumption function is

A) C = 200 + 0.2Y. 
B) C = 300 + 0.75Y.

C) C = 500 + 0.5Y. 
D) C = 1,000 + 0.2Y.

Answer: C

17) Refer to Figure 8.1. This household saves -$300 at an income level of

A) $400.
 B) $300 
C) $250. 
D) $125.

Answer: A

18) Refer to Figure 8.1. This household consumes $2,000 at an income level of

A) $3,000. 
B) $2,000. 
C) $2,275.
 D) $1,840.

Answer: A

19) Refer to Figure 8.1. An increase in the amount of consumption this household makes when this householdʹs income is zero

A) makes the consumption function steeper.

B) makes the saving function flatter.

C) shifts the consumption function downward.

D) shifts the saving function downward.

Answer: D

20) Refer to Figure 8.1. An increase in the MPC

A) makes the consumption function flatter.

B) makes the saving function flatter.

C) shifts the consumption function upward.

D) shifts the saving function downward.

Answer: B

Refer to the information provided in Figure 8.2 below to answer the questions that follow.

Figure 8.2
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21) Refer to Figure 8.2. The line segment BD represents Jerryʹs

A) consumption when income equals Y1.

B) saving when income equals zero.

C) saving when income is Y1.

D) consumption when income equals zero.

Answer: D

22) Refer to Figure 8.2. Jerryʹs consumption equals his income at Point

A) B. 
B) A. 
C) D. 
D) C.

Answer: B

23) Refer to Figure 8.2. Jerryʹs saving equals zero at income level

A) zero. 
B) Y1. 
C) Y2. 
D) Y2 - Y1.

Answer: B

24) Refer to Figure 8.2. Along the line segment AC, Jerryʹs

A) consumption equals his income.

B) consumption is greater than his income.

C) saving is zero.

D) saving is positive.

Answer: D

25) Refer to Figure 8.2. Along the segment AB, Jerryʹs

A) consumption is less than his income. B) saving is positive.

C) consumption equals his income. D) saving is negative.

Answer: D

26) Refer to Figure 8.2. Positive saving occurs along the line segment

A) BC. 
B) DC. 
C) AC. 
D) BA.

Answer: C

27) Refer to Figure 8.2. An increase in Jerryʹs income is represented by

A) an upward shift in Jerryʹs consumption function.

B) an increase in the slope of Jerryʹs consumption function.

C) a movement from Point B to A.

D) none of the above

Answer: C

28) Refer to Figure 8.2. Suppose Jerryʹs MPC increases. At income Y1, Jerryʹs

A) consumption will be greater than his income.

B) consumption will be less than his income.

C) saving will be zero.

D) all of the above

Answer: A

29) The fraction of a change in income that is consumed or spent is called

A) the marginal propensity of income. B) the marginal propensity to save.

C) the marginal propensity to consume. D) average consumption.

Answer: C

30) If you save $80 when you experience a $400 rise in your income,

A) your MPS is 0.25. 
B) your MPC is 0.80.

C) your MPC is 0.85. 
D) your MPS is 0.40.

Answer: B

31) If consumption is $30,000 when income is $35,000, and consumption increases to $36,000 when income increases to $43,000, the MPC is

A) 0.65.
 B) 0.80.
 C) 0.75.
 D) 0.95.

Answer: C

32) If consumption is $10,000 when income is $10,000, and consumption increases to $11,000 when

income increases to $12,000, the MPS is

A) 0.10. B) 0.25. C) 0.50. D) 0.90.

Answer: C

33) Suppose consumption is $5,000 when income is $8,000 and the MPC equals 0.9. When income increases to $10,000, consumption is

A) $4,500. 
B) $2,700. 
C) $6,800.
 D) $7,200.

Answer: C

34) Suppose saving is $1,400 when income is $10,000 and the MPC equals 0.8. When income increases to $12,000, saving is

A) $1,680. 
B) $1,800. 
C) $2,200.
 D) $3,000.

Answer: B

35) Suppose consumption is $60,000 when income is $90,000 and the MPS equals 0.25. When income increases to $100,000, consumption is

A) $70,000.
 B) $85,000.
 C) $67,500.
 D) $90,250.

Answer: C

36) If the MPS is .22, the MPC is

A) -0.22. 
B) 0.78. 
C) 1.22. 
D) 0.66.

Answer: B

37) If the MPS is .05, the MPC is

A) -0.05. 
B) 2.25. 
C) 0.95. 
D) 1.05.

Answer: C

38) If the consumption function is of the form C = 80 + 0.4Y, the MPS equals

A) -0.4. 
B) 0.4. 



C) 0.6. 
D) -0.6.

Answer: C

39) If the saving function is of the form S = -20 + 0.3Y, consumption at an income level of 200 is

A) 80.
 B) 120.
 C) 160.
 D) 180.

Answer: C

40) If Lilyʹs consumption function is of the form C = 100 + 0.8Y, her saving equals zero at an income level of

A) 180.

B) 500.

C) 800.

D) cannot be determined from the given information

Answer: B

41) If Zanderʹs saving function is of the form S = -150 + 0.5Y, his consumption equals his income at an income level of

A) 150. 
B) 225.
 C) 1,500.
 D) 300.

Answer: D

Refer to the information provided in Table 8.1 below to answer the questions that follow.

Table 8.1
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Aggregate Income (6 billion) __ Aggregate Consumption (5billion)

0 80
50 125
100 170
150 215

200 260





42) Refer to Table 8.1. The equation for the aggregate consumption function is

A) C = 80 + .95Y. 
B)C = 80 + .9Y. 
C) C = 80 + .75Y. 
D)C = -80 + .45Y.

Answer: B

43) Refer to Table 8.1. Societyʹs MPC is

A) 0.90. 
B) 0.95. 
C) 0.80.
 D) 0.05.

Answer: A

44) Refer to Table 8.1. Societyʹs MPS is

A) 0.05.
 B) 0.10. 
C) 0.20.
 D) 0.95.

Answer: B

45) Refer to Table 8.1. At an aggregate income level of $100, aggregate saving would be

A) -$30
. B) $30.
 C) -$70. 
D) $50.

Answer: C

46) Refer to Table 8.1. Assuming societyʹs MPC is constant at an aggregate of income of $300, aggregate consumption would be ________.

A) $325.
 B) $350.
 C) $305. 
D) $425.

Answer: B

Refer to the information provided in Table 8.2 below to answer the questions that follow.

Table 8.2
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47) Refer to Table 8.2. The equation for the aggregate saving function is

A) S = -100 + .15Y. 
B) S = -100 + .1Y.

C) S = -150 + .2Y. 
D) S = -150 + .85Y.

Answer: B

48) Refer to Table 8.2. Societyʹs MPC is

A) 0.1. 
B) 0.2. 
C) 0.8. 
D) 0.9.

Answer: D

49) Refer to Table 8.2. Societyʹs MPS is

A) 0.2. 
B) 0.3. 
C) 0.1. 
D) 0.9.

Answer: C

50) Refer to Table 8.2. Assuming societyʹs MPC is constant, at an aggregate income level of $900,

aggregate consumption would be

A) $665. 
B) $910. 
C) $1,200. 
D) $1,750.

Answer: B

51) Refer to Table 8.2. Assuming societyʹs MPC is constant, at an aggregate income of $1,200 aggregate saving would be ________.

A) $0 
B) $20 
C) $55 
D) $150

Answer: B

Refer to the information provided in Figure 8.3 below to answer the questions that follow.

Figure 8.3
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52) Refer to Figure 8.3. The equation for the aggregate consumption function is

A) C = 140 + .5Y. 
B)C = 60 + .7Y. 
C) C = 80 + .6Y. 
D) C = 60 + .4Y.

Answer: B

53) Refer to Figure 8.3. The equation for the aggregate saving function is

A) S = -60 + .3Y. 
B)S = -200 + .6Y. 
C)S = -140 + .5Y. 
D)S = -80 + .4Y

Answer: A

54) Refer to Figure 8.3. In this economy, aggregate saving will be zero if income is

A) $100 billion. 
B) $200 billion.
 C) $300 billion.
 D) $400 billion.

Answer: B

55) Refer to Figure 8.3. For this society, aggregate saving is positive if aggregate income is

A) above zero. 
B) between $0 and $150 billion.

C) equal to $200 billion. 
D) above $200 billion.

Answer: D

56) Refer to Figure 8.3. If aggregate income is $1,000 billion, then in this society aggregate saving is

________ billion.

A) $300 
B) $320 
C) $240 
D) $550

Answer: C

57) Refer to Figure 8.3. Which of the following statements is FALSE?

A) Aggregate saving is negative for all income levels below $400 billion.

B) For all aggregate income levels above $200 billion, aggregate consumption is less than aggregate income.

C) If consumption is the only expenditure, this economy would be in equilibrium at an aggregate income level of $200 billion.

D) Saving is negative at all income levels below $200 billion.

Answer: A

Refer to the information provided in Figure 8.4 below to answer the questions that follow.

Figure 8.4
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58) Refer to Figure 8.4. The aggregate consumption functions C1 and C2

A) have the same MPC values.

B) imply a different MPS values.

C) have the same autonomous consumption values.

D) have the same break-even values.

Answer: A

59) Refer to Figure 8.4. Which consumption function has the largest MPC?

A) C1.
 B) C2.

C) C3.
 D) cannot be determined from the figure

Answer: C

60) Refer to Figure 8.4. Suppose the consumption function for C1 = 10 + 0.8Y, the consumption

function that best fits C2 is

A) C2 = 20 + 0.8Y.
 B) C2 = 10 + 0.4Y.

C) C2 = 40 + 0.5Y.
 D) C2 = 20 + 0.1Y.

Answer: A

61) Refer to Figure 8.4. Suppose the consumption function for C1 = 20 + 0.5Y, the consumption function that best fits C3 is

A) C3 = 20 + 0.8Y. 
B) C3 = 20 + 0.4Y.

C) C3 = 40 + 0.5Y. 
D) C3 = 40 + 0.4Y.

Answer: A

 62) Refer to Figure 8.4. If income is Y1, aggregate consumption is the greatest when the aggregate

consumption function is

A) C3. 
B) C2.

C) C1.
D) cannot be determined from the figure
Answer: B

63) Refer to Figure 8.4. If income is Y2

A) the society's saving is negative along C1, C2, and C3.

B) the society's consumption is equal along C2 and C3.

C) the society's saving is positive along C2 and C3.

D) the society's savings is negative along C1.

Answer: B

64) If the consumption function is below the 45-degree line,

A) consumption is less than income and saving is positive.

B) consumption is less than income and saving is negative.

C) consumption exceeds income and saving is positive.

D) consumption exceeds income and saving is negative.

Answer: A

Refer to the information provided in Figure 8.5 below to answer the questions that follow.

Figure 8.5
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65) Refer to Figure 8.5. The MPS for this saving function is

A) 5. 
B) 0.25. 
C) 0.5. 
D) 4.

Answer: B

66) Refer to Figure 8.5. If aggregate income is $400 billion, aggregate saving is ________ billion.

A) -$300 
B) -$100 
C) $0 
D) $500

Answer: B

67) Refer to Figure 8.5. If aggregate income is $900 billion, aggregate consumption

A) is $25 billion.

B) is $800 billion.

C) is $875 billion.

D) cannot be determined from this information.

Answer: C

Refer to the information provided in Figure 8.6 below to answer the questions that follow.

Figure 8.6
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68) Refer to Figure 8.6. The MPS for this saving function is

A) .4. 
B) .2. 
C) .25. 
D) .1.

Answer: D

69) Refer to Figure 8.6. If aggregate income is $800, aggregate saving is ________.

A) -$100 
B) -$20 
C) $40 
D) $20

Answer: D

70) Refer to Figure 8.6. If aggregate income is $1,000, aggregate consumption is

A) $850. 
B) $960. 
C) $910. 
D) $920.

Answer: B
2 True/False

1) As interest rates fall, spending decreases.

Answer: FALSE

2) Uncertainty about the future is likely to increase current spending.

Answer: FALSE

3) The marginal propensity to consume is the change in consumption per change in income.

Answer: TRUE

4) If the marginal propensity to consume is .8, the marginal propensity to save is 8.

Answer: FALSE

8.2 Planned Investment

1) The Tiny Tots Toy Company manufactures only sleds. In 2007 Tiny Tots manufactured 10,000 sleds, but sold only 8,000 sleds. In 2007 Tiny Totsʹ change in inventory was

A) -2,000 sleds. 
B) 1,000 sleds. 
C) 2,000 sleds. 
D) 3,000 sleds.

Answer: C
2) The Jackson Tool Company manufactures only tools. In 2008 Jackson Tools manufactured

20,000 tools, but sold 21,000 tools. In 2008 Jackson Toolsʹ change in inventory was

A) -2,000 tools.
 B) 1,000 tools. 
C) -1,000 tools. 
D) 3,000 tools.

Answer: C

3) Which of the following is NOT considered investment?

A) The acquisition of capital goods 
B) The purchase of government bonds

C) The increase in planned inventories 
D) The construction of a new factory

Answer: B

4) Which of the following is an investment?

A) the purchase of a new printing press by a business

B) the purchase of a corporate bond by a household

C) the purchase of a share of stock by a household

D) a leveraged buyout of one corporation by another

Answer: A

5) Over which component of investment do firms have the least amount of control?

A) purchases of new equipment 
B) construction of new factories

C) changes in inventories 
D) building new machines

Answer: C

6) Assume that in Scandia, planned investment is $80 billion but actual investment is $60 billion.

Unplanned inventory investment is

A) -$10 billion. 
B) $140 billion. 
C) -$20 billion. 
D) $70 billion.

Answer: C

7) Assume that in Jabara, planned investment is $30 billion, but actual investment is $45 billion.

Unplanned inventory investment is

A) $75 billion. 
B) -$15 billion. 
C) $15 billion. 
D) -$75 billion.

Answer: C

8) If unplanned business investment is $20 million and planned investment is $20 million, then

actual investment is

A) $20 million. 
B) $40 million. 
C) -$20 million. 
D) $200 million.

Answer: B

9) In 2006 Happylandʹs planned investment was $90 billion and its actual investment was $140

billion. In 2006 Happylandʹs unplanned inventory change was

A) -$50 billion. 
B) -$115 billion. 
C) $50 billion. 
D) $230 billion.

Answer: C

10) If planned investment exceeds actual investment,

A) there will be an accumulation of inventories.

B) there will be no change in inventories.

C) there will be a decline in inventories.

D) none of the above

Answer: C

11) If Inventory investment is higher than firms planned,

A) actual and planned investment are equal.

B) actual investment is less than planned investment.

C) actual investment is greater than planned investment.

D) actual investment must be negative.

Answer: C

Refer to the information provided in Figure 8.7 below to answer the questions that follow.

Figure 8.7
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12) Refer to Figure 8.7. In Azora, planned investment does not vary with income. Azoraʹs planned investment function is represented by

A) Panel A. 
B) Panel B. 
C) Panel C. 
D) Panel D.

Answer: B

13) Refer to Figure 8.7. In Farley, planned investment varies inversely with income. Farleyʹs

planned investment function is represented by

A) Panel A. 
B) Panel B. 
C) Panel C. 
D) Panel D.

Answer: D

14) Without the government or the foreign sector in the income-expenditure model, planned aggregate expenditure equals

A) consumption plus actual investment.

B) consumption plus inventory adjustment.

C) consumption minus planned investment.

D) consumption plus planned investment.

Answer: D

2 True/False

1) If actual investment is greater than planned investment, unplanned inventories decline.

Answer: FALSE
2) Firms react to an unplanned inventory investment by increasing output.

Answer: FALSE
3) Firms react to negative inventory investment by increasing output.

Answer: TRUE

4) If planned saving exceeds planned investment, injections are greater than leakages.

Answer: FALSE

5) If planned investment increases, equilibrium will be restored only when saving has increased

by exactly the amount of the initial increase in planned investment, assuming there is no

government or foreign sector.

Answer: TRUE

8.3 The Determination of Equilibrium Output (Income)

1 Multiple Choice

1) In macroeconomics, equilibrium is defined as that point at which

A) saving equals consumption.

B) planned aggregate expenditure equals aggregate output.

C) planned aggregate expenditure equals consumption.

D) aggregate output equals consumption minus investment.

Answer: B

2) The economy can be in equilibrium if, and only if,

A) planned investment is zero.

B) actual investment is zero.

C) planned investment is greater than actual investment.

D) planned investment equals actual investment.

Answer: D

3) If aggregate output is greater than planned spending, then

A) unplanned inventory investment is zero.

B) unplanned inventory investment is negative.

C) unplanned inventory investment is positive.

D) actual investment equals planned investment.

Answer: C

4) If unplanned inventory investment is positive, then

A) planned investment must be zero.

B) planned aggregate spending must be greater than aggregate output.

C) planned aggregate spending must be less than aggregate output.

D) planned aggregate spending must equal aggregate output.

Answer: C

5) If aggregate output equals planned aggregate expenditure, then

A) unplanned inventory investment is zero.

B) unplanned inventory adjustment is negative.

C) unplanned inventory adjustment is positive.

D) actual investment is greater than planned investment.

Answer: A

Refer to the information provided in Table 8.3 below to answer the questions that follow.

Table 8.3
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6) Refer to Table 8.3. At an aggregate output level of $400 billion, planned expenditure equals

A) $550 billion. 
B) $450 billion. 
C) $500 billion.
 D) $850 billion.

Answer: A

7) Refer to Table 8.3. At an aggregate output level of $800 billion, aggregate saving

A) equals -$50 billion.

B) equals $0.

C) equals $50 billion.

D) cannot be determined from this information.

Answer: C

8) Refer to Table 8.3. At an aggregate output level of $200 billion, the unplanned inventory change is

A) -$150 billion. 
B) -$200 billion. 
C) -$50 billion. 
D) $100 billion.

Answer: B

9) Refer to Table 8.3. At an aggregate output level of $600 billion, the unplanned inventorychange is

A) -$100 billion.
 B) -$50 billion. 
C) $0.
 D) $50 billion.

Answer: A

10) Refer to Table 8.3. If aggregate output equals ________, there will be a $100 billion unplanned

decrease in inventories.

A) $200 billion
 B) $400 billion 
C) $600 billion 
D) $800 billion

Answer: C

11) Refer to Table 8.3. The equilibrium level of aggregate output equals

A) $400 billion. 
B) $600 billion.
 C) $800 billion.
 D) $1,000 billion.

Answer: D

12) Refer to Table 8.3. Which of the following statements is FALSE?

A) At output levels greater than $800 billion, there is a positive unplanned inventory change.

B) If aggregate output equals $1000 billion, then aggregate saving equals $100.

C) The MPC for this economy is .75.

D) At an output level of $400 billion, there is a $150 billion unplanned inventory decrease.

Answer: A

13) Refer to Table 8.3. Planned saving equals planned investment at an aggregate output level

A) of $1000 billion.

B) of $600 billion.

C) of $800 billion.

D) that cannot be determined from this information.

Answer: A

14) Refer to Table 8.3. Planned investment equals actual investment at

A) all income levels. 
B) all income levels above $600 billion.

C) all income levels below $600 billion. 
D) $1000 billion.

Answer: D

Refer to the information provided in Table 8.4 below to answer the questions that follow.

Table 8.4
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15) Refer to Table 8.4. At an aggregate output level of $3,000 million, planned expenditure equals

A) $3,000. 
B) $3,600.
 C) $2,800. 
D) $4,400.

Answer: B

16) Refer to Table 8.4. The MPC in this economy is

A) 0.5. 
B) 0.6. 
C) 0.7. 
D) 0.8.

Answer: D

17) Refer to Table 8.4. At an aggregate output level of $4,000 million, the unplanned inventory change is

A) $1,200 million. 
B) 0. 
C) $400 million.
 D) -$400 million.

Answer: D

18) Refer to Table 8.4. At an aggregate output level of $7,000 million, the unplanned inventory

change is

A) 0. 
B) $400 million.

C) -$400 million. 
D) -$1,200 million.

Answer: B

19) Refer to Table 8.4. If aggregate output equals ________, there will be a $200 million unplanned

decrease in inventories.

A) $3,000 million 
B) $4,000 million
 C) $5,000 million
 D) $6,000 million

Answer: C

20) Refer to Table 8.4. The equilibrium level of aggregate output equals

A) $3,000 million.
 B) $4,000 million.
 C) $5,000 million.
 D) $6,000 million.

Answer: D

21) Refer to Table 8.4. Which of the following statements is FALSE?

A) At an output level $4,000, there is a $400 million unplanned inventory decrease.

B) If aggregate output equals $4,000 million, then aggregate saving equals $1000 million.

C) The MPC for this economy is 0.8.

D) At an output level of $3,000 million, there is a $600 million unplanned inventory decrease.

Answer: B

22) Refer to Table 8.4. Planned saving equals planned investment at an aggregate output level of

A) $4,000 million. 
B) $5,000 million.
 C) $6,000 million.
 D) $7,000 million.

Answer: C

23) Refer to Table 8.4. Planned investment equals actual investment at

A) all income levels. 
B) all income levels above $6,000 million.

C) all income levels below $6,000 million 
D) an income level of $6,000 million.

Answer: D

24) If C = 100 + .8Y and I = 50, then the equilibrium level of income is

A) 600. 
B) 375.
 C) 187.5. 
D) 750.

Answer: D

25) If C = 500 + .9Y and I = 400, then the equilibrium level of income is

A) 900. 
B) 1,800.
 C) 1,000. 
D) 9,000.

Answer: D
26) If S = -200 + 0.2Y and I = 100, then the equilibrium level of income is

A) 3,000.
 B) 1,500.
 C) 4,000.
 D) 1,200.

Answer: B

27) If C = 1,500 + .75Y and I = 500, then planned saving equals planned investment at aggregate

output level of

A) 8,000. 
B) 20,000.
 C) 2,666.67.
 D) 10,000.

Answer: A

Refer to the information provided in Figure 8.8 below to answer the questions that follow.

Figure 8.8
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28) Refer to Figure 8.8. What is the equation for the aggregate expenditure function (AE)?

A) AE = 200 + .5Y.
 B) AE = 150 + .25Y.

C) AE = 200 + .8Y. 
D) AE = 350 + .6Y.

Answer: B

29) Refer to Figure 8.8. Equilibrium output equals

A) 100.
 B) 200. 
C) 150. 
D) 300.

Answer: B

30) Refer to Figure 8.8. At aggregate output level $300 million, there is a

A) $75 million unplanned increase in inventories.

B) $75 million unplanned decrease in inventories.

C) $100 million decrease in inventories.

D) $100 million increase in inventories.

Answer: A

31) Refer to Figure 8.8. At aggregate output level $100 million, there is a

A) $75 million unplanned increase in inventories.

B) $75 million unplanned decrease in inventories.

C) $100 million decrease in inventories.

D) $100 million increase in inventories.

Answer: B

32) Refer to Figure 8.8. How will equilibrium aggregate expenditure and equilibrium aggregateoutput change as a result of a decrease in investment by $20 million?

A) AE line shifts down, increasing equilibrium output and equilibrium expenditure.

B) AE line shifts up, increasing equilibrium output and equilibrium expenditure.

C) AE line shifts down, decreasing equilibrium output and equilibrium expenditure.

D) AE line shifts down, increasing equilibrium output and decreasing equilibrium

expenditure.

Answer: C

33) Refer to Figure 8.8. Leakages are greater than injections at an aggregate output level of

A) $300 million.
 B) $100 million.

C) $200 million.
 D) cannot be determined from the figure

Answer: A

Refer to the information provided in Figure 8.9 below to answer the questions that follow.

Figure 8.9
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34) Refer to Figure 8.9. What is the equation for the aggregate expenditure function (AE)?

A) AE = 600 + .1Y. 
B) AE = 200 + .8Y.

C) AE = 550 + .8Y. 
D) AE = 100 + .9Y.

Answer: B

35) Refer to Figure 8.9. At an aggregate output level of $500 million, there is a

A) $100 million unplanned increase in inventories.

B) $175 million unplanned decrease in inventories.

C) $0 change in unplanned inventories.

D) $100 million unplanned decrease in inventories.

Answer: D

36) Refer to Figure 8.9. At aggregate output levels above $1,000 million, there are

A) unplanned increases in inventories and output increases.

B) unplanned decreases in inventories and output increases.

C) unplanned decreases in inventories and output decreases.

D) unplanned increases in inventories and output decreases.

Answer: D

37) Refer to Figure 8.9. At aggregate output levels below $1,000 million, there are

A) unplanned decreases in inventories and output increases.

B) unplanned increases in inventories and output increases.

C) unplanned increases in inventories and output decreases.

D) unplanned decreases in inventories and output decreases.

Answer: A

38) Refer to Figure 8.9. At aggregate output levels above $1,000 million,

A) leakages equal injections.

B) leakages are more than injections.

C) leakages are zero, but injections are positive.

D) leakages are less than injections.

Answer: B

39) Refer to Figure 8.9. At aggregate output levels below $1,000 million,

A) leakages equal injections.

B) leakages are greater than injections.

C) leakages are less than injections.

D) leakages are positive, but injections are negative.

Answer: C

40) Using the saving/investment approach to equilibrium, the equilibrium condition can be

written as

A) C + I = C + S.
 B) C = S + I. 
C) C - S = I.
 D) C + S = I.

Answer: A

41) Firms react to unplanned inventory reductions by

A) reducing output. 
B) increasing output.

C) reducing planned investment.
 D) increasing consumption.

Answer: B

42) Firms react to unplanned increases in inventories by

A) reducing output. 
B) increasing output.

C) increasing planned investment.
 D) increasing consumption.

Answer: A

43) Aggregate output will increase if there is a(n)

A) increase in saving. 
B) unplanned rise in inventories.

C) unplanned fall in inventories. 
D) decrease in consumption.

Answer: C

44) A decrease in planned investment causes

A) output to increase.

B) output to decrease, but by a smaller amount than the decrease in investment.

C) output to decrease, but by a larger amount than the decrease in investment.

D) output to decrease by an amount equal to the decrease in investment.

Answer: C

2 True/False

1) When aggregate expenditure is greater than aggregate output, there will be an unplanned

build up of inventories.

Answer: FALSE

2) When there is an unplanned draw down of inventories, firms will increase production.

Answer: TRUE

3) Actual investment equals planned investment plus unplanned changes in inventories.

Answer: TRUE

4) When the economy is in equilibrium, savings equals planned investment.

Answer: TRUE

5) If aggregate expenditure decreases, then equilibrium output increases.

Answer: FALSE

6) Assuming there is no government or foreign sector, the economy will be in equilibrium if, and

only if, planned investment equals actual investment.

Answer: TRUE

8.4 The Multiplier

1 Multiple Choice

1) The ratio of the change in the equilibrium level of output to a change in some autonomous variable is the

A) elasticity coefficient.

B) multiplier.

C) automatic stabilizer.

D) marginal propensity of the autonomous variable.

Answer: B

Refer to the information provided in Figure 8.10 below to answer the questions that follow.

Figure 8.10
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2) Refer to Figure 8.10. The equation for the aggregate expenditure function AE0 is

A) AE0 = 50 + .6Y. 
B) AE0 = 80 + .6Y.

C) AE0 = 50 + .75Y. 
D) AE0 = 50 + .4Y.

Answer: C

3) Refer to Figure 8.10. The value of the multiplier is

A) 2. 
B) 2.5. 
C) 3.
 D) 4.

Answer: D

4) Refer to Figure 8.10. A $10 million increase in investment changes equilibrium output to

A) $240 million.
 B) $90 million. 
C) $225 million.
 D) $175 million.

Answer: A

5) Refer to Figure 8.10. A $20 million decrease in autonomous consumption

A) changes equilibrium expenditure to $120 million.

B) changes equilibrium output to $180 million.

C) will change the MPC.

D) will change the MPS.

Answer: A

6) Refer to Figure 8.10. If MPC increases to 0.8, equilibrium aggregate output

A) increases to $250 million.

B) remains at $200 million.

C) increases to $400 million.

D) cannot be determined from the given information.

Answer: A

7) Assuming no government or foreign sector, if the MPC is 0.9, the multiplier is

A) 0.1. 
B) 5. 
C) 9.
 D) 10.

Answer: D

8) Assuming no government or foreign sector, the formula for the multiplier is

A) 1/MPC. 
B) 1/MPS. 
C) 1/(1 + MPC).
 D) 1 - MPC.
Answer: B

9) Assuming there is no government or foreign sector, the formula for the multiplier is

A) 1/(1 - MPC). 
B) 1/MPC. 
C) 1/(1 + MPC). 
D) 1 - MPC.

Answer: A

10) Assuming there is no government or foreign sector, if the multiplier is 10, the MPC is

A) 0.9.
 B) 0.8. 
C) 0.5.
D) 0.1.

Answer: A

11) Assume there is no government or foreign sector. If the MPS is .05, the multiplier is

A) 0.95.
 B) 20.
 C) 10.
 D) 50.

Answer: B

) Assume there is no government or foreign sector. If the multiplier is 10, a $10 billion increase

in planned investment will cause aggregate output to increase by

A) $1 billion.
 B) $5 billion. 
C) $10 billion.
 D) $100 billion.

Answer: D

13) Assume there is no government or foreign sector. If the MPS is 0.2, a $40 billion decrease in planned investment will cause aggregate output to decrease by

A) $20 billion.
 B) $50 billion.
 C) $80 billion. 
D) $200 billion.

Answer: D

14) Assume there is no government or foreign sector. If the multiplier is 4, a $20 billion increase in investment will cause aggregate output to increase by

A) $5 billion. 
B) $20 billion.
 C) $40 billion.
 D) $80 billion.

Answer: D

Refer to the information provided in Figure 8.11 below to answer the questions that follow.

Figure 8.11
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15) Refer to Figure 8.11. What is the equation for aggregate expenditure AE1?

A) AE1 = 1,000 + .5Y. 
B) AE1 = 600 + .4Y.

C) AE1 = 1,000 + .6Y.
 D) AE1 = 400 + .4Y.

Answer: B

16) Refer to Figure 8.11. Suppose AE1, AE2 and AE3 are parallel. What is the value of Point B?

A) $750 million

B) $800 million

C) $900 million

D) cannot be determined from the given information

Answer: C

17) Refer to Figure 8.11. Suppose AE1, AE2 and AE3 are parallel. What is the value of Point A?

A) $450 million

B) $540 million

C) $510 million

D) cannot be determined from the given information

Answer: A

18) Refer to Figure 8.11. Suppose the economyʹs aggregate expenditure line is AE1. A $10 million increase in planned investment causes aggregate equilibrium output to increase to

A) $1,016.7 million. 
B) $1,010 million.

C) $1,125.5 million.
 D) $1,215.6 million.

Answer: A

19) As the MPS decreases, the multiplier will

A) increase.

B) decrease.

C) remain constant.

D) either increase or decrease depending on the size of the change in investment.

Answer: A

20) Midwest State University in Nebraska is trying to convince Nebraska taxpayers that the tax

dollars spent at Midwest State University are well spent. One of the universityʹs arguments is

that for every $1 spent by Midwest State University an additional $5 of expenditures are

generated within Nebraska. Midwest State University is arguing that the multiplier for their

expenditures is

A) 0.2.
 B) 1. 
C) 4. 
D) 5.

Answer: D

21) If autonomous consumption increases, the size of the multiplier would

A) increase.

B) decrease.

C) remain constant.

D) either increase or decrease depending on the size of the change in autonomous

consumption.

Answer: C

22) In practice, the actual size of the multiplier is about

A) 1. 
B) 1.4. 
C) 2.
 D) 4.

Answer: B

23) Related to the Economics in Practice on p. 154 [466]: According to the ʺparadox of thrift,ʺ as

individuals increase their saving,

A) income in the economy increases because there is more money available for firms to invest.

B) income in the economy increases because interest rates will fall and the economy will expand.

C) income in the economy will remain constant because the change in consumption equals the change in saving.

D) income in the economy will fall because the decreased consumption that results from increased saving causes the economy to contract.

Answer: D

24) Related to the Economics in Practice on p. 154 [466]: According to the ʺparadox of thrift,ʺ

increased efforts to save will cause a(n)

A) increase in income and an increase in overall saving.

B) increase in income but no overall change in saving.

C) decrease in income and an overall decrease in saving.

D) decrease in income but an increase in saving.

Answer: C

2 True/False

1) The larger the MPC, the smaller the multiplier.

Answer: FALSE
2) The smaller the MPS, the larger the multiplier.

Answer: TRUE

3) If the MPC is .75, then the multiplier is 4.

Answer: TRUE

4) If the MPS is .1, then the multiplier is 10.

Answer: TRUE
5) An increase in the MPC, reduces the multiplier.

Answer: FALSE
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